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CTET Paper 2 - 31 December (Memory Based)  
 

CTET Paper 2 : CDP 
 
Q1. A student feels difficulties while watching words and his eyes becomes red. It is an example of  

 Ans: Visual impairment 

 

Q2. Which of the following is an example of fine motor skill? 

 Ans: Writing 

 

Q3. Which theory proposes the four major stages of cognitive development? 

 Ans: Piaget’s theory of cognitive development 

 

Q4. Which one of the following is in the stages of adaptation? 

 Ans: Assimilation and Accommodation 

 

Q5. As per independently, the Zone of proximal development is 

 Ans: Difference between what a child can do independently and with assistance 

 

Q6. Which term is not used by Vygotsky? 

 Ans: Equilibrium 

 

Q7. Reducing stress and enhancing success in examination necessities 

 Ans: A shift towards shorter examination 

 

Q8. It is the capacity to acquire and apply knowledge. 

 Ans: Intelligence 

 

Q9. The principle of learner centered education are 

 Ans: Learning by doing and Learning by living 
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CTET Paper 2 :  Mathematics 

 

Q1. Out of 16 players in a cricket club, 12 can bat, 7 players can bowl, how many all-rounders are there 

in the club? 

 Ans: 3 

 

Q2. 336 छात्रों के समूह को एक वस्तुनिष्ठ टेस्ट दिया गया, यहाां पाया गया की 5/6 छात्रों िे सभी उत्तर दिए, दकति ेछात्र 

ऐसे ह ैनिसमे एक या अनिक गलनतयाां की 

 Ans: 56 

 

Q3. Simplify  √250047
3

 

 Ans: 63 

 

 

CTET Paper 2 : Science 

 

Q1. All of the following organisms can prepare their own food by Photosynthesis? 

 Ans: Embryo 

 

Q2. Who is the father of circulatory system? 

 Ans: William Harvey 

 

Q3. The human hindbrain comprises of three parts, one of which is  

 Ans: Cerebellum 

 

Q4. The major energy supplier component of food is 

 Ans: carbohydrate 

 

Q5. External fertilisation is seen in  

 Ans: Frogs and Fishes 

 

 

CTET Paper 2 :  Social Science 
 

Q1. Which of the following best describes the term ‘market’? 

 Ans: A local place with favorable conditions for setting up an industry 

 

Q2. Which is not a primary economic activity? 

 Ans: Trade 

 

Q3. PHC stand for 

 Ans: Public Health Center 
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Q4. If it is 10:00 am in London in June, then Indian standard time will be 

 Ans: 3:30 

 

Q5. The system of structure and behavior in which the man shows his dominance over the woman, 

oppresses and explain her is called 

 Ans: Patriarchal 

 

Q6. Which statement about Prashasti is correct? 

 Ans: They are valuable sources of history of the period to which they belong 
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